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*(_OWORD *)myinput = 0i64;
v33 = 0;
sub_13F8B18CO(std::cin, a2, (__int64)myinput);// BtACode
myinput_len = -1i64;
v3 = -1i64;
do
++Vv3;
while ( *((_BYTE *)myinput + v3) );
if (v3 1=19)
{
sub_13F8B1620(std::cout, "error\n");
_exit((unsigned __int64)myinput);
}
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v4 = (__int128 *)sub_13F8B1E5C(5ui64);

t_code = *(_QWORD *)&Code; // "qwertyuiopasdfghjklzxcvbnm1234567890"
V6 = V4;
v7 = 0;
v8 = Vv4;
do
{
v9 = *((_BYTE *)v8 + (char *)myinput - (char *)v4);
v1ie = 0;
*(_BYTE *)v8 = v9;
vll = 0i64;
v12 = -1i64;
do
++v12;
while ( *(_BYTE *)(t_code + v12) );
if (vi2)
{
do
{
if ( v9 == *(_BYTE *)(t_code + v11) )
break;
++v10;
++v11;
}
while ( v10 < v12 );
}
vl3 = -1i64;
do
++v13;

while ( *(_BYTE *)(t_code + v13) );
if ( vie == vi13 )

_exit(t_code);
v8 = (__int128 *)((char *)v8 + 1);

}
while ( (char *)v8 - (char *)v4 < 4 ); // WAERT4F T #B{ECode &
*((_BYTE *)v4 + 4) = 0; /] PRAFHTANL
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do
++myinput_len;

while ( *((_BYTE

vl4 = 0i64;

key = *v6;

while ( *((_BYTE

{

if ( !*((_BYTE
{
++v14;
break;
}
if ( !'*((_BYTE
{
vl4 += 2i64;
break;
}
if ( !'*((_BYTE
{
vl4d += 3i64;
break;
}
v14d += 4i64;

*)Ymyinput + myinput_len) );

*)&key

*)&key

*)&key

*)&key

if ( vi4 >= exle )

break;

}

for (i =v14 + 1; i < 0x10; ++i )
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vlid + 2) )

vlid + 3) )
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*((_BYTE *)&key + i) = 0;
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vl6 = xxtea_13F8B1ABO((__int64)myinput, myinput_len, (unsigned _ int8 *)&key, &Size);// HHEInz
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*v19 = v18[2];
ptr_v19_1 = v19 + 1;
v19[1] *v18;
v19[2] = v18[3];
v19[3] = v18[1];
v19[4] = vi8[6];
v19[5] = v18[4];
v19[6] = v18[7];
v19[7] = v18[5];
v19[8] = vig[1@];
v19[9] = v18[8];
vigo[1e] = v18[11];
v19[11] = v18[9];
v19[12] = v18[14];
v19[13] = v18[12];
v19[14] = v18[15];
v19[15] = v18[13];
v19[16] = v18[18];
v19[17] = v18[16];
v19[18] = v18[19];
v19[19] = v18[17];
v19[20] = v18[22];
v19[21] = v18[20];
v19[22] = v18[23];
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for ( v19[23] = v18[21]; v20 < v17; ++ptr_v19 1 )// v20MN1TTUESEbRZEMN3TF4R
{
v22 = 0i64;
if (v20 /3 >0)
{
v23 = *ptr_v19_1;
do
{
v23 A= v19[v22++];
*ptr_v19_ 1 = v23;

}

while ( v22 < v20 / 3 ); // SHin/30REk
}
++Vv20;
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*(_QWORD *)&key = -4569681940847739698i64;
v24 = v19 - (_BYTE *)&key;
*((_QWORD *)&ey + 1) = 3819887636644928495i64;

v25 = 0i64;
v30 = -939386845;
v31l = -95004953;
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v29 = list(b'\xce\xbc@k|:\x95\xcO\xef\x9b \x91\xf7\x025#\x18\x02\xc8\xe7VWW\xfa")
print(1, bytes(v29))
#2, 7ok
for i in range(23,0,-1):

for j in range(i//3):

v29[i]~=v29[]j]

print(2, bytes(v29))
#3, #Hefu
v19 vi18 = [2,0,3,1,6,4,7,5,10,8,11,9,14,12,15,13,18,16,19,17,22,20,23,21]
v18 = [@]*1len(v29)
for i,j in enumerate(v29):

v18[v19 _vi18[i]] = j
print(3, bytes(v18))

#4,xxtea fif%
import struct
_DELTA = Ox9E3779BS

def _long2str(v, w):
n = (len(v) - 1) << 2

if we
m=v[-1]
if (m<n-3)or (m>n): return "'
n=m

s = struct.pack('<%iL' % len(v), *v)
return s[@:n] if w else s

def _str2long(s, w):

= len(s)

(4 - (n&3)&3)+n

s.ljust(m, b"\0")

= list(struct.unpack('<%iL" % (m >> 2), s))
if w: v.append(n)

< w = S |
n

return v

def xxtea_encrypt(str, key):

if str == "'': return str

v = _str2long(str, True)

k = _str2long(key.ljust(16, b"\e"), False)
n = len(v) - 1

z = v[n]

y = v[e]

sum = @

q=6+52//(n+1)

while q > 0:

sum = (sum + _DELTA) & oxffffffff
e = sum >> 2 & 3
for p in range(n):

y = v[p + 1]
vip] = (v[p] + ((z >> 5 2"y << 2) + (y > 3 "~z<<4) ~ (sum ~y) + (k[p & 3 * e] ~ z))) & oxff
z = v[p]
y = v[e]
vin] = (v[n] + ((z >> 52y << 2) + (y > 3 ~z<<4) ~ (sum ~y) + (k[n & 3 ~ e] ~ z))) & oxffffff
z = v[n]
q-=1

return _long2str(v, False)

def xxtea_decrypt(str, key):



if str == : return str

v = _str2long(str, False)

k = _str2long(key.ljust(16, b"\@"), False)
n = len(v) - 1

z = v[n]

y = v[e]

qg=6+52//(n+1)

sum = (q * _DELTA) & Oxffffffff
while (sum != @):

e =sum > 2 &3

for p in range(n, 0, -1):

z =v[p - 1]
vip] = (v[p] - ((z >> 52y << 2) + (y > 3 ~z<<4) ~ (sum ~y) + (k[p & 3 ~ e] ~ z))) & oxff
y = v[p]
z = v[n]
v[@] = (v[@] - ((z >> 5 "2y << 2) + (y> 37"~z<<4) ™ (sum~y) + (k[o & 3 ~ e] ~ z))) & oxffffff
y = v[e]

sum = (sum - _DELTA) & Oxffffffff
return _long2str(v, True)

x = xxtea_decrypt(bytes(vi8), b'flag')

print(x)

1 b'\xce\xbc@k| :\x95\xc@\xef\x9b \x91\xf7\x025#\x18\x02\xc8\xe7VV\xfa"

2 b'\xce\xbc@\xa5\xb2\xf4\xe7\xb2\x9d\xa9\x12\x12\xc8\xae[ \x10\x06=\x1d\xd7\xf8\xdc\xdcp"
3 b'\xbc\xa5\xce@\xf4\xb2\xb2\xe7\xa9\x12\x9d\x12\xae\x10\xc8[=\xd7\x06\x1d\xdcp\xf8\xdc"'
b'flag{CXX_and_++tea}"'
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